An automobile travels to the left at a constant speed of 90 km/h.
Knowing that the diameter of the wheel 1s 650 mm, determine the

acceleration of (a) point B, (b) point C, (c¢) point D.
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A 60-1b uniform thin panel 1s placed 1n a truck with end A resting on
a rough horizontal surface and end B supported by a smooth vertical
surface. Knowing that the panel remains in the position shown, deter-
mine (a) the maximum allowable acceleration of the truck, (b) the
corresponding minimum required coetficient of static friction at end A.
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